[image: image3.png]g o
.com



[image: image1.jpg]ST 2014 EH R ELFAFZ XY BIRSE
BEERRTNIRE

. Ak R EESN, B R ER, BARERE RS, REERATH, IR
B4 EREEEER, ARRAERATES

— . HEEEEE ($ 12 /MVEL,EVE 2 5, P24 5)
s 1 2 3 4 5 6 7 8 9 105 | 21 12

BR [ & A D B & D A B D C (&7 B

o HEEE (£ 9NE, BE 15,1128 5)
13. (1)1.59~1.61  (2)2 (3)60

14. /I iE

15. 358 W/ WK ¥

16. s 4id BMHL A&

17. JeAE KR A 1.6

18. 1000 4.4x10° 10
19. 10 1.2x10°
20. 54 180" 4x107"

21. 125 .05 "TRRDE 68
= MREE (AL T VE,*485)
22 i BINAE 1.,2.3, SN2 4 364,

= &
X

pEl 2 3
23. AR 14,356 5

(Wl I AN -10 ()REEEE KBS (EORRBARSE AL
24 A4S G2 1 4, 3T 4

(D#B ¢ 04 (2)REE FWHESEEB/ABLRGLE  (3)nR 2
25. AfEAG2E 143,356 4

()3 12x10°  (2)HK  (3)2  15x10°  (4)0.8x10°

%. (1) BAR  F=7(G+Gy) (14
RABIE 6,=4N (14)
(Q)BAR  Wy=Cyh 14
RABHE W,=321 (143

YRGS B AR B 1 (32 5D



                               精品学习网 中国最大的综合教育门户网站 

[image: image4.png]



[image: image2.jpg]W
(BYHAR  n=-"x100%
W\‘é

NS n=80%
27. (1) H Ey =Pyt 3 FRAB
th By =Pyt 1% AL
K
i =E—“ x 100% 1% ARA¥R

*
(2)H Ey =Pyt 18 RABHE
H Eyy =Pytyny i ARABER
i By =Ey—Exa®®  RABHE

E
By = —= 18 FRABHE
M

E,
B Py = 'l i RAZSE
R

BRI, Y Py =2 kW I, RGER 10 m/s

28. (1)t i

U\ 71 s
(2)H 1 =R-1% ARA B

H Ry =§1& RS

# R, = Ry-R, 1% ARABHE
(3) 24T RIZERT ,1=0.5 A

R, = 18 RAKE

HIR =Ry -R, 8 RASIE
i P, = IR, % FRASHE
(4)<

(141)
(24
Eq=12kW-h (144)
Ey=6kW-h (141)
My =20% (14%)
E4=0.84 kW-h
Eyy =0.6 kW-h (14%)
Epy =0.24 kW-h (143)
Ey=6 kW+h (14
Py =2 kW a4
(144)
(1L41) ik 1
1=03 A (14%) i

Ry=20 Q
4

R,=10Q (14, %
U=

Ry=12Q

(141)
R=20Q
P,=0.5W

(14%)
(143)

W BR C R IR B ARG AR G K, B
HEFF e, YT I A A

(24)

YERESHERFMTE 202 T)









































































































































































































































































[image: image3.png]第1页           http://www.51edu.com/ 精品学习网

